B 7 EE Q025F %) L ERFEE OKTE, FEFEME, FFEXE. XF,. N, RAES, LWAFA, ZIF)
% RiE4 [RIRE R ®ig RRED (BE)—K&IF

miE(a)  AEsSE(e) | WmiE(a)  HES(ke) | Wih(a) | &FES (ko) | HEEE(ke) | EATEEETE(ha)
K T [EH5397 - - 30 1,020 2,920 128,480 231 4,283
FLDW&H - - - - - - 80 -
BiDIFEL 10 100 340 11,560 37,791 | 1,662,804 558 55,427
SoKYAZ 10 100 60 2,040 4,180 183,920 136 6,131
BIFHrIE - - - - 2,210 97,240 180 3,241
BpHUYH 10 100 130 4,420 12,600 554,400 321 18,480
X2 - - 30 1,020 1,860 81,840 171 2,728
wEUNY 10 100 - - 160 7,040 160 235
HPUVH - - - - - - 180 -
E-KYA - - - - - - 240 -
o= - - - - - - 300 -
1SR - - - - 610 26,840 170 895
22 10 100 - - 390 17,160 260 572
=L9K - - - - - - 340 -
ZoW i - - 30 1,020 3,330 146,520 231 4,884
AHED 10 100 100 3,400 13,190 580,360 30 19,345
ZhEDY - - 30 1,020 3,960 174,240 91 5,808
F<hE585 - - 20 680 1,620 71,280 161 2,376
BDF1H - - 20 680 2,390 105,160 130 3,505
EpELL 10 100 - - 1,110 48,840 122 1,628
ErAkEb - - 20 680 330 14,520 111 484
it 70 700 810 27,540 88,651 | 3,900,644 4,203 130,021
MEENE |F2/H4) - - 50 1,950 2,483 96,837 105 1,076
EFhaH 190 5,700 4,320 168,480 160,689 | 6,748,938 7,772 84,362
wHEMS 50 1,050 990 38,610 38,730 | 1,510,470 2,748 16,783
L R95F - - 35 1,365 220 8,580 680 95
25%%5 - - 10 390 30 1,170 309 15
it 240 6,750 5,405 210,795 202,152 | 8,365,995 11,614 102,331
FFENE (NLAEH - - 150 3,600 3,400 91,800 1,286 765
LA 160 2,160 2,220 53,280 51,954 | 1,402,758 6,997 11,690
F5E5Y - - 380 9,120 9,050 244,350 1,049 2,036
it 160 2,160 2,750 66,000 64,404 i 1,738,908 9,332 14,491
BFFEREZ (Y&£555 - - 10 250 60 1,650 192 11
LE25 100 1,200 340 8,500 6,060 166,650 732 1,111
it 100 1,200 350 8,750 6,120 168,300 924 1,122

E BRROREEIL. N/ EERBRRERVREBENRHEDREEENT .




S 7 FE Q020FE) LBERTFHE Ok, FEFE/ME, FFEXE, AT, ME. ZAES. LAIFA, ZEF)

% RiE4 RRE R ®ig RRED BE)—BIF
miE(a)  AEsS(e) | WiE(a) (HES(ke) | WEih(a) | &FES (ko) | HEE(ke) | B ATEEETE(ha)
X E [PHDDB - - 20 300 230 4,140 57 52

YIL LR A - - - - - - - -
BRIY5 - - 5 90 50 900 12 8

Nyehy - - - - - - - -
EUYH - - 20 300 120 2,160 93 36
FILRA 10 135 140 2,100 5,140 92,520 108 1,542
d¥kwL 45 608 1,070 16,050 31,194 561,492 355 6,239
a%RYLR - - 1,215 18,225 36,730 661,140 706 7,346
LEHOE - - 260 3,900 13,046 234,828 609 3,914
FEXH 5 68 20 300 810 14,580 21 243
XD - - 80 1,200 2,400 43,200 328 720
LWhLKs - - 160 2,400 4,000 72,000 400 900
AATILR - - 80 1,200 2,900 52,200 80 1,305
A% XHh - - 270 4,050 11,510 207,180 324 5,180
LEFEED 35 473 310 4,650 14,119 254,142 138 2,824
it 95 1,283 3,650 54,765 122,249 i 2,200,482 3,231 30,307
N g [ZYELavX - - 300 4,500 5,430 81,450 411 2,036
IYE167 20 240 390 5,850 6,520 97,800 338 2,445
EOELD - - 20 300 1,120 16,800 62 420
LepEY - - 80 1,200 350 5,250 235 131
EBFA 65 780 750 11,250 15,478 232,170 474 5,804
EWVAIE 25 300 10 150 150 2,250 56 56
LIFPUH - - 40 600 80 1,200 36 30
=-0FY - - 20 300 50 750 51 19
EfIFt=5 5 60 20 300 160 2,400 90 48
FhREAFTY - - - - - - - -
ELHKE - - 200 3,000 2,125 31,875 283 638
FENKE 5 60 10 150 180 2,700 5 54
it 120 1,440 1,840 27,600 31,643 474,645 2,041 11,681
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B 7 FE Q025ER) LEEEFHE CkfE, FEFSNE FFEXE, KB, N, ZAES, LWAITA, ZE)
% RiEL RRE R RiE [RIRED BE)—BIF
miE(a)  AEsS(e) | WiE(a) (HES(ke) | WEih(a) | &FES (ko) | HEE(ke) | B ATEEETE(ha)
AAES |dEHKRIE - - 30 360 480 7,200 75 120
PN - - 10 120 80 1,200 73 20
it - - 40 480 560 8,400 148 140
WAITA | KIESE - - 600 7,200 2,990 44,850 2,356 498
dtiEee - - - - - - - -
1255 50 500 550 6,600 1,570 23,550 2,165 196
A=k - - 150 1,800 640 9,600 340 96
BEREH - - 150 1,800 1,100 16,500 2,140 138
MrEEE - - - - - - - -
EFT - - 250 3,000 3,060 45,900 50 918
£T35 20 200 - - 240 3,600 - 72
fBTIFES - - 30 360 240 3,600 2 60
'/ITH - - 80 960 300 4,500 340 41
Et=0vy - - - - - - - -
EEN 600 6,000 1,510 18,120 16,250 243,750 142 2,708
AR - - 20 360 160 3,360 60 67
BEE - - 30 540 160 3,360 61 56
pN=F( - - 10 180 150 3,150 96 29
it 670 6,700 3,380 40,920 26,860 405,720 7,752 4,879
z £ |F2TEYN 100 900 720 6,480 3,066 27,594 2474 460
X2/34a - - 20 180 123 1,107 - 18
L35/h#1 - - 300 2,700 300 2,700 - 45
FAIVE - - 590 5310 1,500 13,500 - 225
it 100 900 1,630 14,670 4,989 44,901 2,474 748

F TREEOREEX. SHN7FERREEZRVREE~NRTROBEEEZTY,




2 RERFR

(e KHE)
55397 IFLOWH
RES [R5 3E(100kg/10a) [ #&(340kg/10a) $R¥E(440kg/10a) RES & [E38(100ke/10a) [ #&(340kg/10a) $R¥E(440kg/10a)
i) |HE=E(ke)| () |EE=ke)| M@ | £E=(e) HifG) | ZEE=ke)| @@ |LE=ke| @i | £ES(ke
ZEH - - 30 1,020 2,920 | 128,480 Z=H0 - - - - - -
ar - - - - - - A - - - - - -
EBES - - - - - - EBES - - - - - -
Ll - - - - - - il - - - - - -
G - - 30 1,020 2920 | 128480 B - - - - - -
BEDIFL SoKYAC
RE [R5 #E(100kg/ 10a) [ #&(340kg/10a) $£F8(440kg/10a) RE R [538(100kg/10a) [ #&(340kg/10a) $RFE(440kg/10a)
i) | HE=E(ke)| EHEG) |EE=ke)| M@ | £E=(ke) HifG) | EE=ke)| @@ |LE=ke| @Ei | £ES(ke
5 10 100 250 8,500 24,122 | 1,061,368 25 10 100 - - - -
a¥F - - 30 1,020 1,729 76,076 ¥ - - - - - -
EBES - - - - 3,310 145,640 ES - - 60 2,040 4,180 183,920
Ll - - 60 2,040 8,630 | 379,720 Il - - - - - -
& 10 100 340 11,560 37,791 | 1,662,804 E 10 100 60 2,040 4180 | 183920
HIEFHDE BPHUYH
RES [&J5178(100kg/ 10a) [ #&(340kg/10a) $£78(440kg/10a) RER [ [538(100kg/10a) [ #&(340kg/10a) $£48(440kg/10a)
i) |HE=ke)| @G |EE=ke)| M@ | £E=(ke) EifG) | EE=ke)| @G |LE=ke)| Ef@ | £ESke
5 - - - - 2,210 97,240 2250 10 100 50 1,700 7430 | 326,920
BF - - - - - - ¥ - - - - - -
EBS - - - - - - ES - - - - - -
Ll - - - - - - Il - - 80 2,720 5170 | 227,480
& - - - - 2,210 97,240 E 10 100 130 4,420 12,600 | 554,400
A E BpEVMY
RES [&J578(100kg/ 10a) [ #&(340kg/10a) $£78(440kg/10a) RELS JE[538(100kg/10a) JR#&(340kg/10a) $£48(440kg/10a)
i) |HESR(e)| @) |EE=ke)| M@ | £E=(e) mifG) | EESke)| @G |LE2ke)| Ei@ | £ESke)
250 - - 30 1,020 1,860 81,840 2450 10 100 - - - -
B - - - - - - ¥ - - - - - -
EBS - - - - - - EBES - - - - - -
LI - - - - - - LIl - - - - 160 7,040
E - - 30 1,020 1,860 81,840 E 10 100 - - 160 7,040
HPUH E={YA
RES [&J5178(100kg/ 10a) [R#&(340kg/10a) $£48(440kg/10a) RES JE[538(100kg/10a) R #&(340kg/10a) $£48(440kg/10a)
i) | EESe)| @G |EESke)| M@ | £EZ(e) i) | EESke)| @@ |LE2Eke)| @Ei@ | £ESke
25 - - - - - - 2250 - - - - - -
a5 - - - - - - aF - - - - - -
ES - - - - - - ES - - - - - -
Ll - - - - - - L1l - - - - - -
ZoE B
RES [& J5178(100kg/ 10a) [ #&(340kg/10a) $£48(440kg/10a) RES JR[538(100kg/10a) JR#&(340kg/10a) $£4&(440kg/10a)
i) | EESe)| @G |EESke)| M@ | £EZ(e) i) | EESke)| @@ |LE2Eke)| @Ei@ | £ESke
pepi) - - - - - - 2250 - - - - - -
a¥F - - - - - - ¥ - - - - 610 26,840
ES - - - - - - ES - - - - - -
L - - - - - - L - - - - - -
B - - - - - - B - - - - 610 26,840




(tE¥%  KAR)

= ——
RER [R [R#(100kg/ 10a) ﬁ%ﬁ(i(im 0a) $X7E(440kg/10a) REF J5 [R%2(100kg/10a) IR %g(;lo’;i 0a) $%78(440kg/ 10a)
Hifa) | 4FESke)| HEGe) | fE=Eke| HEiG@) |EESke Eife) |4EEke)| EifG) |EESke)| B | FESke
ZEH 10 100 - - - - Z=H0 - - - - - -
B - - - - - - B - - - - - -
S - - - - 390 17,160 ES - - - - - -
i3] - - - - - N il - - - - - -
& 10 100 - - 390 17,160 B - - - - - -
Zoi=m AHED
RER [ [ #2(100kg/10a) [ #%(340kg/10a) $278(440kg/10a) REF J5 [ %2(100kg/ 10a) [ #8(340kg/10a) $%78(440kg/10a)
i) | 4ESke)| B |EESke)| BEHG) | EES(e) i) | 4ESke)| ERG |£AESke| @Ei@ |£ESke
EH - - - - - - =50 10 100 100 3,400 13,190 | 580,360
a5 - - 30 1,020 3,330 | 146,520 % - - - - - -
ES - - - - - - ES - - - - - -
i3] = - - - - - i3]l - - - - - -
& - - 30 1,020 3330 | 146,520 B 10 100 100 3,400 13,190 | 580,360
ZhELY
RER [5 [ #£(100kg/ 10a) [5#%(340kg/10a) £%18(440kg/10a)
i) |4ESke)| BEHEG@) |4ESke)| BEH@) | FES(e)
ZEH - - 30 1,020 3,960 | 174,240
¥ - - - - - -
ES - - - - - -
il - - - - - -
[ - - 30 1,020 3,960 | 174,240
F<BEI5 ADFH5
RER [5 [ #£(100kg/10a) [5#%(340kg/10a) £%1%(440kg/10a) RER [5 [ #2(100kg/ 10a) [5#%(340kg/10a) $%1%(440kg/10a)
i) | 4ESke)| HEHG@) |FESke| BEH@) | FES (e EifG) | 4ESke)| B |£AESke| @Eif@ |£ESke
ZEH - - - - 100 4,400 =5 - - - - 960 42,240
Eotii - - - - - - B - - - - - -
bt - - - - - - pid. - - - - - -
I - - 20 680 1,520 66,880 £l - - 20 680 1,430 62,920
[ - - 20 680 1,620 71,280 § - - 20 680 2,390 | 105,160
(et KAR)
EPELE ST
RER [5 [ #(100kg/10a) [5#&(340kg/10a) £%18(440kg/10a) RER [5 [ #2(100kg/10a) [5#&(340kg/10a) ££1%(440kg/10a)
i) |4ESke)| HEHEG@) |FESke)| EH@) | FES (e EifG) | 4ESke)| @il |fAEEke| HEib@ |£ESke
5 10 100 - - 1,110 48,840 ZE5 - - - - - -
=L - - - - - - a¥ - - - - - -
ES - - - - - - ES - - - - - -
Il - - - - - - £l - - 20 680 330 14,520
& 10 100 - - 1,110 48,840 B - - 20 680 330 14,520
KR A&t
RER [5 [R#2(100kg/ 10a) [5#%(340kg/10a) ££18(440kg/10a)
EifG) 4ESke)| @@ |£LESEke)| @i |£ESke
2250 70 700 490 16,660 57,862 | 2,545928
aE - - 60 2,040 5669 | 249436
S - - 60 2,040 7,880 | 346,720
LIl - - 200 6,800 17,240 | 758,560
&t 70 700 810 27,540 88,651 | 3,900,644




(e RhFENER)

*2/hAY) =1 FHH
RES [RIFFE 210kg/10a [R1& 390kg/10a 1318 390kg/10a RES [RIFFE 300kg/10a 18 390kg/10a {18 420kg/10a
miE(a) |H£ES e)| WiE(a) |£ES (kg)| HEE(a) |%FE=Z (ke Hifia) £ER (k)| HEH(a) |HES (k)| FEHf(a) |HES (kg
31| - - 50 1,950 1473 57,447 2250 190 5,700 120 4,680 3,823 | 160,566
a1 - - - - - - a5 - - - - 407 17.094
®&& - - - - - - & - - 60 2,340 2,800 | 117,600
fBiR - - - - - - AB iR - - - - - -
L] - - - - - - i - - - - 300 12,600
£l - - - - 110 4,290 £ - - 380 14,820 17,000 | 714,000
FR—v9 - - - - 300 11,700 AR—v9 - - 1,910 74,490 50,059 | 2,102,478
+ B - - - - 600 23,400 T - - 1,850 72,150 86,300 | 3,624,600
i - - 50 1,950 2,483 96,837 & 190 5,700 4320 | 168,480 | 160,689 | 6,748,938
pHEIS L R955
RER [RIE#E 210ke/10a [ 390kg/10a 1218 390kg/10a RER B[R 210kg/10a [E 8 390kg/10a 1378 390kg/10a
miE(a) |H£ES e)| WiE(a) £ES (kg)| WEHE(a) |EE=Z (ke mifa) [£ER (k)| HEHfi(a) |EES (kg)| HEi(a) |EES kg
T 50 1,050 200 7,800 6,000 234,000 2250 - - 35 1,365 220 8,580
¥ - - 140 5,460 5200 | 202,800 ¥ - - - - - -
s - - - - - - & - - - - - -
EEH - - 80 3,120 2,080 81,120 EE - - - - - -
L1 - - - - - - Ll - - - - - -
£l - - 100 3,900 6,000 | 234,000 £ - - - - - -
FR—v9 - - 200 7.800 5450 | 212,550 AR—v9 - - - - - -
+ B - - 270 10,530 14,000 | 546,000 + 8% - - - - - -
i 50 1,050 990 38,610 38,730 | 1,510,470 E - - 35 1,365 220 8,580
2%%H MFEENE G5
RER | EEFE 210ke/10a 548 390kg/10a 1218 390ke/10a RER EEE EiE =i
HEifi(a) [£ES (e)| Fil(a) |4FEE (kg)| FiE(a) |%EES ko) Eifi(a) [£ES (k)| HEHl(a) |HEES (kg)| FiE(a) |4ES ko)
225 - - - - - - 250 240 6,750 405 15,795 11,516 | 460,593
a¥ - - - - - - an - - 140 5,460 5607 | 219,894
®E - - - - - - & - - 60 2,340 2,800 | 117,600
EEH - - - - - - BB - - 80 3,120 2,080 81,120
L] - - - - - - il - - - - 300 12,600
£l - - - - - - £ - - 480 18,720 23,110 | 952,290
Ft—vy - - 10 390 30 1,170 tHh—vy - - 2,120 82,680 55839 | 2,327,898
+B - - - - - - +E - - 2,120 82,680 100,900 | 4,194,000
i - - 10 390 30 1,170 &it 240 6,750 5405 | 210,795 | 202,152 | 8,365.995




(% FFEIE)

NLABA LT
RER [ R3E 120kg/10a [51& 240kg/10a 218 270ke/10a RER [RIR3E 135kg/10a [51& 240kg/10a 218 270kg/10a
Hifi(a) HES(kg)| HHf(a) HES ke)| FEHE(a) FES kg Hifi(a) HER (k)| HEif(a) HES (k)| HEHf(a) HES (kg
25 - - 30 720 1,000 27,000 50 160 2,160 - - - -
a8 - - 120 2,880 2,400 64,800 oL - - 190 4,560 5700 | 153,900
®E - - - - - - #®E - - 100 2,400 1,900 51,300
EEH - - - - - - EEH - - - - - -
=10} - - - - - - L1 - - - - 500 13,500
Il - - - - - - L1l - - 420 10,080 12,500 ; 337,500
FH—=vY - - - - - - AR—v9 - - 1,510 36,240 31,354 | 846,558
T8 - - - - - - 8 - - - - - -
i - - 150 3,600 3,400 91,800 B 160 2,160 2,220 53,280 51,954 | 1,402,758
E3Y) EFENE AR
RER [FR* 135kg/10a [51& 240kg/10a 218 270kg/10a RER BEERE B 518
Hifi(a) HER(kg)| HEHfi(a) HES ke)| FiE(a) FES kg Hif(a) |EE= (k)| Eifi(a) |EES (kg)| EiE(a) |HES (ko)
=50 - - 130 3,120 3,550 95,850 2250 160 2,160 160 3,840 4550 122850
¥ - - - - - - a - - 310 7,440 8100 : 218700
#®iE - - - - - - #®& - - 100 2,400 1,900 51,300
EEH - - - - - - EE - - - - - -
=10} - - - - - - L1 - - - - 500 13,500
Il - - 250 6,000 5500 | 148,500 L1l - - 670 16,080 18,000 | 486,000
FH—=vY - - - - - - FHR—=vY - - 1510 36.240 31,354 | 846,558
+ B - - - - - - B - - - - - -
it - - 380 9,120 9,050 | 244,350 i 160 2,160 2,750 66,000 64,404 | 1,738,908
(%R EFEEXRER)
Y&ES59 LE2%
RER [RIRFE 120kg/10a [R#E 250kg/10a 218 275kg/10a RER [RIRFE 120kg/10a [R#E 250kg/10a %48 275ke/10a
Ei(a) HES (k)| FiE(a) EEE (ke)| HEiE(a) EES ke HEif(a) HES (k)| FtE(a) HEE (k)| HEiE(a) EEE (ke
25 - - - - - - =450 100 1,200 - - - -
B - - - - - - BY - - - - - -
# - - - - - - i - - - - - -
E - - - - - - L - - - - - -
e - - 10 250 60 1,650 s - - - - - -
Il - - - - - - L1l - - 120 3,000 1,900 52,250
A=Yy - - - - - - A=Yy - - 220 5,500 4160 114,400
+i% - - - - - - +1% - - - - - -
it - - 10 250 60 1,650 &t 100 1,200 340 8,500 6,060 | 166,650
FFEEKRE At
AR BRTE B 51
Hifia) £ES (k)| EH(a) HES e)| FER(a) |FES ko)
ZEH 100 1,200 - - - -
a - - - - - -
#HE - - - - - -
L - - - - - -
Ha - - 10 250 60 1,650
Ll - - 120 3,000 1,900 52,250
FHR—vy - - 220 5,500 4,160 . 114,400
+ B - - - - - -
&t 100 1,200 350 8,750 6,120 | 168,300




(s K=)

BHND% YILLZA
RER [5R3E 135kg/10a [5%& 150kg/10a 218 180kg/10a RER [RR3E 135kg/10a [51& 150kg/10a 218 180kg/10a
Eifi(a) HES (k)| HH(a) HES e)| BEHE(a) FES kg Hifi(a) HER (k)| HEif(a) HES (k)| HEHf(a) HES (kg
240 - - - - - - Ze4 - - - - - -
a¥ - - - - - - a¥ - - - - - -
o - - - - - - & - - - - - -
E - - - - - - L - - - - - -
EES - - - - - - B - - - - - -
L1 - - 20 300 230 4,140 Ll - - - - - -
il - - - - - - L1l - - - - - -
Ah—vy - - - - - - [Ah=vy - - - - - -
+8 - - - - - - +i - - - - - -
i - - 20 300 230 4,140 5 - - - - - -
23795 NYERY
RER [FE#E 135ke/10a [51& 180kg/10a 278 180kg/10a RER B 5FE 135kg/10a [5%& 150kg/10a %18 180kg/10a
Hifi(a) HES(kg)| HHfi(a) HES ke)| FEiE(a) FES kg Hmifi(a) HES (k)| Hifi(a) HES (kg)| HEii(a) HES (kg
T - - - - - - 5 - - - - - -
¥ - - - - - - a - - - - - -
®E - - - - - - #®& - - - - - -
EEH - - - - - - EE - - - - - -
bid =) - - 5 920 10 180 bid=] - - - - - -
=10} - - - - - - L1 - - - - - -
L - - - - - - L - - - - - -
FH—=vY - - - - - - FHR—=vY - - - - - -
+ B - - - - 40 720 TR - - - - - -
& - - 5 90 50 900 & - - - - - -
PETYH FILRA
RER [F[5#&E 135kg/10a [F#% 150kg/10a %#2 180kg/10a RER [RIRE 135kg/10a [5#& 150kg/10a 218 180kg/10a
Eif(a) HES (k)| HEiE(a) HEE (k)| HiE(a) EES ke HEif(a) HES (k)| FEtE(a) HEE (k)| HEiE(a) EEE ke
25 - - - - - - 5 10 135 80 1.200 4,270 76,860
a¥ - - 20 300 120 2,160 ¥ - - 30 450 340 6,120
& - - - - - - #®& - - 10 150 150 2,700
BBiR - - - - - - i - - - - - -
ES - - - - - - ES - - - - - -
H#l - - - - - - L1 - - 20 300 380 6,840
Ll - - - - - - L1l - - - - - -
Fk—vY - - - - - -| | Ahk=ys - - - - - -
+i% - - - - - - +1% - - - - - -
£ - - 20 300 120 2,160 &t 10 135 140 2,100 5,140 92,520
¥Rl AFRILR
RER [BE[E#E 135kg/10a [E#E 150kg/10a 278 180kg/10a RER [E[E#E 135kg/10a [E#E 150kg/10a $2#8 180kg/10a
Hif(a) H£ESe)| Ef(a) 4HES g)| FE(a) 4FES ko) Hifi(a) A£ES(ke)| EH(a) HES (g)| FEH(a) 4ES ko)
2250 45 608 570 8,550 13,344 | 240,192 ZE5 - - - - - -
% - - 50 750 650 11,700 % - - - - - -
k& - - 40 600 850 15,300 #& - - 50 750 1,500 27,000
JiEE - - - - - - iR - - - - - -
i - - - - - - ES - - - - - -
|4l - - - - - - L1 - - - - - -
i3] - - 360 5,400 14000 | 252,000 il N - 100 1,500 4,500 81,000
Ah—=vy - - 50 750 2,050 36.900 Fr—vy - - - - - -
+h% - - - - 300 5,400 + B - - 1,065 15,975 30,730 | 553,140
& 45 608 1,070 16,050 31,194 | 561492 B - - 1,215 18,225 36730 | 661,140




(s K=)

EEHDE EEAMH
RER [5R3E 135kg/10a [5%& 150kg/10a 218 180kg/10a RER [RR3E 135kg/10a [51& 150kg/10a 218 180kg/10a
Eifi(a) HES (k)| HH(a) HES e)| BEHE(a) FES kg Hifi(a) HER (k)| HEif(a) HES (k)| HEHf(a) HES (kg
25 - - 30 450 700 12,600 250 5 68 - - - -
an - - - - 100 1,800 art - - - - - -
k& - - - - - - & - - - - - -
EEH - - - - - - EEH - - - - - -
EES - - - - - - B - - - - - -
=10} - - - - - - L1 - - - - - -
L - - - - - - L - - - - - -
FHR—vy - - 110 1,650 8196 | 147,528 FHR—=vY - - - - - -
+B - - 120 1,800 4,050 72,900 +8 - - 20 300 810 14,580
i - - 260 3,900 13046 | 234,828 B 5 68 20 300 810 14,580
KBOE R
RER [FE#E 135ke/10a [5%& 150kg/10a 278 180kg/10a RER B 5FE 135kg/10a [5%& 150kg/10a %18 180kg/10a
Hifi(a) HES(kg)| HHfi(a) HES ke)| FEiE(a) FES kg Hmifi(a) HES (k)| Hifi(a) HES (kg)| HEii(a) HES (kg
240 - - - - - - Ze4 - - - - - -
Y - - - - - - Y - - - - - -
®E - - - - - - #®& - - - - - -
EEH - - - - - - EE - - - - - -
ES - - - - - - ES - - - - - -
Ll - - - - - - i) - - 30 450 1,050 18,900
Il - - - - - - L1l - - 60 900 1,700 30,600
FH—=vY - - - - - - FHR—=vY - - - - - -
+ B - - 80 1,200 2,400 43,200 + 8% - - 70 1050 1,250 22,500
F - - 80 1,200 2,400 43,200 i - - 160 2,400 4,000 72,000
ZXXTILR 21X XA
RER [RIR3E 135kg/10a [F#% 150kg/10a %#2 180kg/10a RER [RIRE 135kg/10a [5#& 150kg/10a 218 180kg/10a
Eif(a) HES (k)| HEiE(a) HEE (k)| HiE(a) EES ke HEif(a) HES (k)| FEtE(a) HEE (k)| HEiE(a) EEE ke
250 - - 60 900 2,100 37,800 225 - - 100 1,500 3,350 60,300
L5 - - - - - - aE - - 80 1,200 2,500 45,000
®E - - - - - - #®& - - - - - -
LR - - 20 300 800 14,400 IS - - - - - -
ES - - - - - - ES - - - - - -
il - - - - - - 1l - - - - - -
Ll - - - - - - L1l - - - - - -
Fk—vY - - - - - -| | Ahk=ys - - - - - -
+B - - - - - - +B - - 90 1,350 5660 | 101,880
& - - 80 1,200 2,900 52,200 &t - - 270 4,050 11,510 | 207,180
LXEEH A5 &t
RELD RRFE 135kg/10a [R%E 150kg/10a $£%E 180kg/10a RER RERE [t i
Hif(a) H£ESe)| Ef(a) 4HES g)| FE(a) 4FES ko) Hifi(a) A£ES(ke)| EH(a) HES (g)| FER(a) 4FES ko)
2250 35 473 120 1,800 4,829 86,922 ZE5 95 1,283 960 14,400 28593 | 514674
L5 - - 20 300 850 15,300 aE - - 200 3,000 4,560 82,080
#&& - - - - - - ®E - - 100 1,500 2,500 45,000
EE - - - - - - iR - - 20 300 800 14,400
i - - - - - - | &8 - - 5 90 10 180
| & - - - - - - L - - 70 1,050 1,660 29,880
i3] - - 100 1,500 4,700 84,600 il - - 620 9,300 24900 | 448,200
Fh—vs - - 70 1,050 3,740 67,320 Fh—vs - - 230 3,450 13,986 | 251748
+h% - - - - - - + B - - 1,445 21,675 45240 | 814,320
& 35 473 310 4,650 14,119 | 254,142 a5t 95 1,283 3,650 54765 | 122249 | 2,200,482




(tE% M)

TUEYIVX I)E167
RER [RIFFE 120kg/10a [R7% 150kg/10a 7% 150kg/10a REF [RIFFE 120kg/10a [R7% 150kg/10a %38 150kg/10a
Hifi(a) HES (k)| HHf(a) HES ke)| FHE(a) FES kg Hifi(a) HER (k)| HEif(a) HES (k)| HEHf(a) EES (kg
25 - - - - - - sk 31| 20 240 - - - -
ar - - 20 300 130 1,950 art - - - - - -
®E - - - - - - ®E - - 20 300 700 10,500
IR - - - - - - EEH - - 20 300 150 2,250
G - - - - - - 1Ll - - - - - -
il - - - - - - L1l - - - - - -
A= - - - - - - A= - - 60 900 520 7,800
+ B - - 280 4,200 5,300 79,500 + 8% - - 290 4,350 5,150 77,250
F - - 300 4,500 5,430 81,450 F 20 240 390 5,850 6,520 97,800
EOEED LwEY
RER [RRFE 120kg/10a [51& 150kg/10a 278 150kg/10a REF [RIRFE 120kg/10a [51& 150kg/10a %18 150kg/10a
Hifi(a) HER(kg)| HHfi(a) HES e)| FEiE(a) EES kg mif(a) HES (k)| HEifi(a) HES (kg)| HEii(a) HEES kg
T - - - - - - 5 - - - - - -
¥ - - - - - - a - - - - - -
®E - - - - - - & - - - - - -
LR - - 20 300 150 2,250 IR - - - - - -
=10} - - - - - - L1 - - - - - -
Il - - - - - - L1l - - 80 1,200 350 5,250
FH—=vY - - - - - - FHR—=vY - - - - - -
+ B - - - - 970 14,550 TR - - - - - -
& - - 20 300 1,120 16,800 i - - 80 1,200 350 5,250
E=5FA EENAES
RER [RIRFE 120kg/10a [F#% 150kg/10a 218 150kg/10a RER [RIRTE 120kg/10a [F#& 150kg/10a 218 150kg/10a
Ei(a) HES (k)| EiE(a) HEE (ke)| HEiE(a) EES ke Eif(a) HES (k)| FtE(a) HEE (k)| HEiE(a) EEE (ke
25 - - - - - - =450 25 300 - - - -
B - - - - - - BY - - - - - -
®& - - - - 30 450 ®E - - - - - -
BBiR - - - - - - i - - - - - -
18l - - - - - - il - - - - - -
Il - - 80 1,200 200 3,000 L1l - - - - - -
FH—vs - - 40 600 668 10,020 Fh—Yy - - 10 150 150 2,250
+h% 65 780 630 9,450 14,580 | 218,700 + B - - - - - -
E 65 780 750 11,250 15478 1 232,170 &t 25 300 10 150 150 2,250
LEP0H E0FEY
REF [RRTE 120ke/10a JR#E 150kg/10a 1218 150kg/10a RERB [REFE 120ke/10a JR#E 150ke/10a 1218 150ke/10a
Hif(a) H£ESe)| Ef(a) 4ES g)| FE(a) 4FES ko) Hifi(a) A£ES(ke)| EH(a) HES (g)| FEE(a) 4ES ko)
ZH - - - - - - 50 - - - - - -
B - - - - - - B - - - - - -
s - - - - - - % - - - - - -
EE - - - - - - iR - - 20 300 50 750
| - - - - - - L - - - - - -
i3] - - 40 600 80 1,200 il - - - - - -
Ak—vY - - - - - e ) - - - - - -
+1% - - - - - - +1% - - - - - -
& - - 40 600 80 1,200 B - - 20 300 50 750




(tE% M)

SIS FHhREAFIY

RER [RIFFE 120kg/10a [R7% 150kg/10a ££%8 150ke/10a RER [RIFFE 120kg/10a [R7% 150kg/10a %38 150kg/10a
Hifi(a) HES (k)| HHf(a) HES ke)| FHE(a) FES kg Hifi(a) HER (k)| HEif(a) HES (k)| HEHf(a) EES (kg
2240 - - - - - - Ze4 - - - - - -
aB¥ - - - - - - a¥ - - - - - -
e - - - - - - ik - - - - - -
EEH - - - - - - EEH - - - - - -
=10} - - - - - - L1 - - - - - -
L - - - - - - L - - - - - -
FR—v9 - - - - - - AR—v9 - - - - - -
+ B 5 60 20 300 160 2,400 +B% - - - - - -
i 5 60 20 300 160 2,400 5 - - - - - -

EEHKME FENKME

RER 75 120kg/10a [E#& 150kg/10a 1318 150ke/10a RER B[R 120kg/10a [E#& 150ke/10a {218 150kg/10a
Hifi(a) HER(kg)| HHfi(a) HES e)| FEiE(a) EES kg mif(a) HES (k)| HEifi(a) HES (kg)| HEii(a) HEES kg
ZEAN - - - - - - 5 5 60 - - - -
a¥ - - 60 900 1,100 16,500 a¥ - - - - - -
# - - - - - - i - - - - - -
LR - - 50 750 355 5,325 IR - - - - - -
Ll - - 10 150 450 6,750 i1l - - 10 150 180 2,700
Il - - 80 1,200 220 3,300 L1l - - - - - -
Fk—vY - - - - - SIE ) - - - - - -
+8 - - - - - - + - - - - - -
& - - 200 3,000 2,125 31,875 i 5 60 10 150 180 2,700

NE BEE
RRRB ERRiE RiE 58

Hifi(a) H£ES(ke)| Eif(a) HES (e)| FEiE(a) 4FES ko)
=450 50 600 - - - -
a¥ - - 80 1,200 1,230 18,450
#&E - - 20 300 730 10,950
JIEE - - 110 1,650 705 10,575
il - - 20 300 630 9,450
L1l - - 280 4,200 850 12,750
FHR—=vy - - 110 1,650 1.338 20,070
+ B 70 840 1,220 18,300 26,160 | 392,400
&t 120 1,440 1,840 27,600 31,643 | 474,645




(%R RAED)

RER [RIR5& 120kg/10a ﬁ#%tﬁgma %1% 150kg/10a RER [RIR3E 120kg/10a F7E ﬁﬁg/ma %1% 150kg/10a
mig(a) HES (k)| EiE() HE=S(ke)| EiE(a) (EES ke miE(a) HES k)| EiE(a) HES (k)| Eif(a) EES kg)|
Ze5] - - - - - - Ze4q - - - - - -
ar - - - - - - a¥F - - - - - -
% - - - - - - % - - - - - -
EE - - - - - - EE - - - - - -
A - - - - - - Al - - - - - -
£ - - 30 360 480 7,200 £ - - 10 120 80 1,200
Aih—=vy - - - - - -| | Ah=vy - - - - - -
8 - - - - - - T - - - - - -
5 - - 30 360 480 7,200 H - - 10 120 80 1,200
ZAES &
RELS RRE FiE 525
Eif(a) HES (kg)| i) HEE (k)| EiE(a) (£EE (ko)
Ze4q - - - - - -
a% - - - - - -
i - - - - - -
iIzES - - - - - _
Ll - - - - - -
£ - - 40 480 560 8,400
R i - - - - - -
+8 - - - - - -
&Et - - 40 480 560 8,400
(1EmE LAITA)
RER [ R3% 100kg/10a I:ﬂg Etﬁ?m %1% 150kg/10a RELS [[57% 100kg/10a Iﬁ#%tgoﬁkgﬂfwa 218 150kg/10a
Eif(a) HEE(g)| i) HEE(ke)| () (£ES (ke) Eif(a) HESe)| i) HEE (k)| i) (£ES (ke)
5 - - - - - - 250 - - - - - -
a5 - - - - - - ar - - - - - -
#%E - - - - - - ®E - - - - - -
=5 - - - - - - BB - - - - - -
il - - - - - - Ltl] - - - - - -
LI - - - - - - LI - - - - - -
F—vy - - - - - - R - - - - - -
+ B - - 600 7,200 2,990 44,850 +B - - - - - -
E - - 600 7,200 2,990 44,850 B - - - - - -
RER BIEE 100ke/10a |  [B1E T%fg/wa 258 150ke/10a REB | ERiE 100kg/10a | _mgﬁfwa _ 12#8 150ke/10a
Eifa) (HEES )| EiRGa) (EEEe)| HEH() EES ke Eiila) (HES )| EiEGa) (EES )| EiE(a) (EEE ke
5 50 500 - - - - 250 - - - - - -
a¥F - - - - - - B - - - - - -
#%E - - - - - - ®E - - - - - -
BBk - - - - - - BB iR - - - - - -
LAl - - - - - - i - - - - - -
I - - - - - - LI - - - - - -
AR—vy - - - - - - R - - - - 70 1,050
+5% - - 550 6,600 1,570 23,550 +i% - - 150 1,800 570 8,550
E 50 500 550 6,600 1,570 23,550 H - - 150 1,800 640 9,600




(e LAITA)

BRER NEEE
RER [RIR%& 100kg/10a JR7& 120kg/10a %18 150kg/10a RER [RIR3& 100kg/10a J7& 120kg/10a %1% 150kg/10a
mig(a) HES (k)| EiE() HE=S(ke)| EiE(a) (EES ke miE(a) HES k)| EiE(a) HES (k)| Eif(a) EES kg)|
Ze5] - - - - - - Ze4q - - - - - -
ar - - - - - - a¥F - - - - - -
% - - - - - - % - - - - - -
EE - - - - - - EE - - - - - -
A - - - - - - Al - - - - - -
£ - - 150 1,800 1,100 16,500 £ - - - - - -
Aih—=vy - - - - - -| | Ah=vy - - - - - -
8 - - - - - - T - - - - - -
3 - - 150 1,800 1,100 16,500 & - - - - - -
EFC [ AdED)
RER [RJE1E 100kg/10a [53E 120kg/10a %12 150kg/10a RELS [RJE1& 100kg/10a J53E 120kg/10a £23% 150kg/10a
mig(a) HES (e)| () HE=(ke)| EiE(a) EES ke mif(a) HES )| EHE() HES(ke)| Eif(a) EES ke)l
Ze5] - - - - - - Ze4q - - - - - -
a5 - - - - - - ¥ - - - - - -
% - - - - - - % - - - - - -
ik - - - - - - iIzES - - - - - -
it - - - - - - Liil] - - - - - -
E]l] - - - - - - LI - - - - - -
FR—vy - - - - - - R i - - - - - -
+ B - - 250 3,000 3,060 45,900 +8 20 200 - - 240 3,600
F - - 250 3,000 3,060 45,900 g 20 200 - - 240 3,600
[-RdES) To3 5
RER [ R3% 100kg/10a [53E 120ke/10a %1% 150kg/10a RELS [[53% 100kg/10a [3E 120ke/10a 218 150kg/10a
Eif(a) HESE(kg)| i) HEE(ke)| () (£ES (k) Eif(a) (HES )| i) HEE (k)| () (£ES (ke)
5 - - - - - - 50 - - - - - -
a5 - - - - - - =Y - - - - 120 1,800
#%E - - - - - - ®E - - - - - -
=5 - - - - - - BB - - - - - -
<A1 - - - - - - i - - - - - -
LI - - - - - - LI - - - - - -
F—vy - - - - - - R - - - - - -
8 - - 30 360 240 3,600 + B - - 80 960 180 2,700
F - - 30 360 240 3,600 g - - 80 960 300 4,500
E0vy BN
RELD [R[RTE 100kg/10a __[R1& 120kg/10a %18 150kg/10a RER JR[RTE 100kg/10a __[51& 120kg/10a __$£5% 150kg/10a
Eifa) (HEES )| EiRG) (EEE(e)| EH() EES ke Eiila) (HEEEe)| BiEG) (EES )| EiE() EEE ke
g | - - - - - - 2250 50 500 - - - -
a¥F - - - - - - B - - - - - -
#%E - - - - - - ®E - - - - - -
BBk - - - - - - BB iR - - - - - -
LAl - - - - - - i - - - - - -
I - - - - - - LI - - - - - -
Fh—vy - - - - - - Fh—ys 180 1,800 110 1,320 1,750 26,250
+ % - - - - - - +h% 370 3,700 1,400 16,800 14500 i 217,500
& - - - - - - H 600 6,000 1,510 18,120 16,250 i 243,750




(e LAITA)

o N RS
RER [RJE1E 160kg/10a [53% 180kg/10a %1% 210kg/10a RER [RJE1E 160kg/10a [53E 180kg/10a £273% 210kg/10a
mig(a) HES (k)| EiE() HE=S(ke)| EiE(a) (EES ke miE(a) HES k)| EiE(a) HES (k)| Eif(a) EES kg)|
Ze5] - - - - - - Ze4q - - - - - -
ar - - - - - - a¥F - - - - - -
% - - - - - - % - - - - - -
iR - - 20 360 100 2,100 BB #R - - 20 360 100 2,100
A - - - - - - Al - - - - - -
Ll - - - - - - LI - - - - - -
AHR—v7 - - - - 60 1,260 A=Y - - 10 180 60 1,260
8 - - - - - - T - - - - - -
3 - - 20 360 160 3,360 i - - 30 540 160 3,360
pN=Ei3 VWAITA &&F
RER [R[51E 160ke/10a J51& 180kg/10a %12 210kg/10a RER R 12 g

mig(a) HES (e)| () HE=(ke)| EiE(a) EES ke Eif(a) HES (kg)| i) HEE (k)| EiE(a) (£EE (ko)

2250 - - - - - - 2250 100 1,000 - - - -
a5 - - - - - - B - - - - 120 1,800
% - - - - - - % - - - - - -
I - - - - 60 1,260 B & - - 40 720 260 5,460
i - - - - - - Al - - - - - -
I - - - - - - £ - - 150 1,800 1,100 16,500
Fh—vy - - 10 180 90 1,890 Fh—vy 180 1,800 130 1,680 2,030 31,710
T B - - - - - - +i5 390 3,900 3,060 36,720 23,350 | 350,250
F - - 10 180 150 3,150 &% 670 6,700 3,380 40,920 26,860 | 405,720




(g 21D

FE2TEYN *45/3a7)
RES [ R%% 90kg/10a [%E 90kg/10a $27% 90kg/10a RER [RR7E 90kg/10a J5%E 90kg/10a 278 90kg/10a
miE(a) HES (k)| Ei(a) HESE(ke)| HHE(a) EES ke Eif(a) HES k)| HEi(a) HES (k)| Eif(a) EES (kg)|
5 - - 500 4,500 700 6,300 =5 - - - - - -
b5 - - - - - - a¥F - - - - - -
% - - - - - - % - - - - - -
BB - - - - - - iIzE - - - - - -
it - - - - - - Liil] - - - - - -
£ - - 20 180 300 2,700 £ - - - - - -
+ B 100 900 - - - - + B - - - - - -
i) - - 200 1,800 2,066 18,594 i 3 - - 20 180 123 1,107
& 100 900 720 6,480 3,066 27,594 f - - 20 180 123 1,107
US/hAY FHIVF
RER [ A% 90kg/10a [53E 90kg/10a 218 90kg/10a RELS [RR7E 90kg/10a [3E 90kg/10a 218 90kg/10a
miE(a) AES (kg)| Ei(a) HES(ke)| EiE(a) (EES ke miE(a) (EES k)| EHE(a) HAES (k)| EiE(a) (EES (kg)|
2250 - - 200 1,800 300 2,700 2250 - - 550 4,950 1,500 13,500
L oL - - - - - - ¥ - - - - - -
& - - - - - - s - - - - - -
E - - - - - - EE - - - - - -
i - - - - - - Al - - - - - -
LI - - - - - - Ll - - - - - -
T - - 100 900 - - T - - - - - -
i bz - - - - - - i s - - 40 360 - -
F - - 300 2,700 300 2,700 g - - 590 5310 1,500 13,500
ZIE A&
RERB R BiE FEaed
Eifi(a) HHESE(e)| i) HEE (k)| () (£EE (ke
2250 - - 1,250 11,250 2,500 22,500
ar¥ - - - - -
& - - - - -
BB - - - - -
i - - - - -
i - - 20 180 300 2,700
+ 8% 100 900 100 900 - -
i 223 - - 260 2,340 2,189 19,701
&&t 100 900 1,630 14,670 4,989 44,901




